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RE o X 2 R FE RS (x)=2x, 0=Sx=1,Y=3x-1, ¥ fy) &47°2
A=y, 0=y=I
(B) fy)=(2/9(y+1), -1=y=2
(O y)=(1/3)(y+1), -1=y=1
D) f(yy=y’, 0=y=1
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13. X is normally distributed with mean p and standard deviation . A triangle is constructed with
width W=57X| and height H=2X|. Let A be the area of this triangle. What is the expected value of
A?

(A) 56222 (B)So>+u®  (O)10(c™+p?) (D) 5(c*+p?)  (E) none of the above

14. Let X},X5,.. X, be a random sample from a normal distribution with variance o? . What is the
distribution of —= (X, - X)*?
G i

(A) t distribution with n degrees of freedom

(B) t distribution with (n-1) degrees of freedom
(C) ¥* distribution with n degrees of freedom
(D) y* distribution with (n-1) degrees of freedom
(E) none of the above
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(Zoos(1D)=3.841, x205(2)=5.991, xl(3)=7.815, yZ..(4)=9.488, yZ.(5)=11.071,

Xo0s (6)=12.592)

2. B40 =10, ZX=40, TY=80, IXY=720, TX’=560, £Y>=1140, = £

Y =botbyX 2 38§ 6% o B H] % 4 8t R

3. Compute the analysis of variance (ANOVA) table based on the following data

n=5 X, =14, n,=6, X,=10, n,=4, X,=9, YL X’ =2010

iy
Source Sum of squares | Degrees of freedom | Mean squares | F-statistic
Treatment
Error
Total

HEE > HE =005 RETFTREY




